Transformations Lesson #6: Stretches about the x- or y-axis - Part Two

CIamEx # A polynomial function has the equation P(x) = (x — 4)(x + 3)(x + 6).
Determine the zeros and the y-intercept if the following transformations are applied.
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Complete Assignment Questions #1 - #6

O Assignment

1. Write the equation of the image of
a) y= |x+ 1| after a vertical stretch about the x-axis by a factor of !

q 9
W3y 3y bl ‘xul
b) y - 2‘afterahonzontal stretch byafactor of 3 about the y-axis
A= 3 W= =3’

¢) y=1/x-2 after a vertical stretch about the x-axis by a factor of 4 and a reflection
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d) y= -2 aftera horizontal stretch about the y-axis by a factor of 4 and a reflectior
they-axxs mn
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e) y=sinx° after a horizontal stretch about the y-axis by a factor of i and

a vertical stretch about the x-axis by a factor of %
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O f) y=2x-11 afterahorizontalstretchaboutthey-axisbyafactorof%and
. a reflection in the y-axis - a(.%x),\\
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Transformations Lesson #6: Stretches about the x- or y-axis - Part Two
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3. The function represented by the thick line is a stretch of the function represented by the
thin line. Write an equation for each function represented by the thick line.
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4. A polynomial function has the equati = S)x = 2)(x + 1). Determine the
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6. How isthegraphof%y-xzrelated;othegraphofy-xz?

A. y=x?has been stretched horizontally about the y-axis by a factor of 4.

y = x2 has been stretched horizontally about the y-axis by a factor of

rg

@ ym= x2 has been stretched vertically about the x-axis by a factor of 4.

D.

y = x2 has been stretched vertically about the x-axis by a factor of

427y

Answer Key

1. 2)
e)
. a)

b)
)

d)

e)
f)

2

h)

a)

e)

a)

5. a)

C

7 3
y-§|x+l| b) y=23

1. 4
= —sin —x° f --6x-11
y 588 3 )y

horizontal stretch about the y-axis by a factor of 3
vertical stretch about the x-axis by a factor of 4
horizontal stretch about the y-axis by a factor of 4 and a reflection in the y-axis

vertical stretch about the x-axis by a factor of %

horizontal stretch about the y-axis by a factor of 2
vertical stretch about the x-axis by a factor of 2

vertical stretch about the x-axis by a factor of 3 and a horizontal stretch
aboutthey-axisbyafactorof%
vertical stretch about the x-axis by a factor of 4, horizontal stretch

about the y-axis by a factor of % , and a reflection in the x-axis

y = 3P(x)

1
Jlg
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b) y=2P(2x) ¢) y=3|x|-6

ot

¢) zeros: -1,2,5

f) y=(x+4)x-2)x-6)

b) zeros 2
4

zeros: -1,2, 5 :-l,l,
4 2

5 -
y-intercept: 40 y-intercept: 10 y-intercept: =3

3
zeros: 0, a y-intercept =0 b) zeros: O, Za y-intercept =0

3

9 y=3|3x| -
1

h) y= —f-x)
3

d) zeros: 4, -8, -i

y-intercept: 10



